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run_13095012 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Wed Apr 4 05:44:11 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

120 |+
100
80 :
60 [+
w0 |

20

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

RMS (ADC-ped)

100 [+
80 |-
60 |
20 b

20 -

1
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

RMS (ADC-ped)

TTT

. . i
20 40 60 80 100 120

=
0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=3__}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

RMS (ADC-ped)

20 40 60 80 100 120
APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Apr 4 05:41:14 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

2000

[ADC for FGT RDO=1,ARM=0,APV=6 }

3000

4000
raw ADC

0 1000 2000

[ADC for FGT RDO=1LARM=0,APV=7 }
|

3000 4000

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=8 }

3000 40(

raw ADC

3000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=9 |

4000

0 1000

2000

3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«
% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. .0 sl el

10°

10

10

10

10°




run_13095012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Apr 4 05:43:37 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Wed Apr 4 05:44:12 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

= 140 F

o b
e

8

g 120 [
2 =
© 100

80

60

40

20

O-rllli-l'rrll'l'l- LT

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

120

100

RMS (ADC-ped)

80

1'I'II'I'H]'I'II'|T

60

40 [~

20 [

i . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

120 &

100 [+

RMS (ADC-ped)

80 |-
60 [

40 [

20 -

i
120
APV channel

=
0

[CADC RMS for RDO=1,ARM=0,APV=8__}

160 =

140

RMS (ADC-ped)

120

100

80

60

40

20

0
APV channel

RMS (ADC-ped)

APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Wed Apr 4 05:41:19 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=0.APV=13 |

1000 2000 3000 40(

raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=14 ]
—

3000 4000
raw ADC

1000 2000

[ ADC for FGT RDO=1,ARM=0,APV=15

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=0.APV=16 _§

1000 2000

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=13 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=—
1000 f=——
=
=
500 f=—
=
o=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

o1 E.,.49 B4 B, 40 R0

10

10

107

10

10°




run_13095012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Apr 4 05:43:38 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Wed Apr 4 05:44:13 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

140 F
120 ‘_
100
80 |
60 |-
40 I

20 [r

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

RMS (ADC-ped)

120

100

80

60

40

20

h—
.
al

L]
—
—
—
M . :
i i i . i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

RMS (ADC-ped)

140 ,_

120 —

100 [+

80

60 |r

40 B

20

0

=
0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=15__}

RMS (ADC-ped)

140

120

100

80

60

40

20

0

=
L—
L—
=
L
i— i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=16 }

RMS (ADC-ped)

APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Wed Apr 4 05:41:23 2012

[ ADC for

FGT RDO=1,ARM=0,APV=17

3000 4000
raw ADC

ADC for

FGT RDO=1,ARM=0,APV=18

0 1000 2000

3000 4000
raw ADC

[ Apcfor

FGT RDO=1 ARM=0,APV=19
—

1000 2000

3000 4000
raw ADC

ADC for

FGT RDO=1,ARM=0,APV=20

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=21

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

APV channel

" 1
60 80 100 120
APV channel

= 4000 p—
5] = .
iy =
Q 3500 fm—
< =

3000 f=—
=

2500 =
=

2000 =
=

1500 f=——

1000 f=——
=
=

500 fm— s v s e
= 2
= 5

0 fm—- e =i=

= i
0 20

[ ADC for FGT RDO=1,ARM= =18
= 4000 p—

] = 5
& =
8 3500 f[=—
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
=
0 ==
E_. . i
0 20

[ ADC for FGT RDO=1,ARM=0,APV=19
= 4000 p—=
] = 5
2 I= i
Q 3500 = e e e
% =

3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = -
=
1500 f=—-------
1000 f=—-------
=
500 =« - - - ve
=
() =
= i
20

[ ADC for FGT RDO=1,ARM=0,APV=20

= 4000 p—
5] = .
& =
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

60 80 100 120
APV channel

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel

.. .1 .. 4 .0 Bl 8

10°

10°

10

10

10




run_13095012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Apr 4 05:43:40 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13095012 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Wed Apr 4 05:44:14 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

RMS (ADC-ped)

120 '_
100
80 |+
60 C
40

20 p

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=19 |

RMS (ADC-ped)

120 |
100 |
80 |

60 |r

40

20

i i i i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

100 [—
80 |+
60 |-
40 |

20 [

i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

120 _'_
100 :
80 [«
60 F
40 :

20 [

120
APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Wed Apr 4 05:41:28 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=4 }

2000 3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]lr|1|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

0

Naiilis

[ ADC for FGT RDO=1,ARM=1,APV=1

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=2

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
E
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=3
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 fp=—
=
o
=
=
0

[ ADC for FGT RDO=1,ARM=1,APV=4

4000

40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. A sy RSl sl .8

10

10

10

10

10




run_13095012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Wed Apr 4 05:43:41 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13095012 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Wed Apr 4 05:44:16 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

180 f—=
=

160 =

RMS (ADC-ped)

140 f—

120 =

100

80

60
40 E

20

. . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

—

RMS (ADC-ped)

=
20

N N i
20 40 60 80 100 120
APV channel

200

g =

e —

9] 180 f——
[=] —

< oy

& 160

= =

@ 140 f——

120

100

80

60

THIE H-1-H‘ITIH

40

20

i
120
APV channel

0

RMS (ADC-ped)

i
120
APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Wed Apr 4 05:41:32 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

in=2,Disc=

B 1, Timeb
Wed Apr 4 05

run_13095012_FGT_MPV_1,T

42 2012

43

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13095012 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Wed Apr 4 05:44:17 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Wed Apr 4 05:41:34 2012

[ ADC for FGT RDO=1,ARM=1,APV=12

1000

2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM

=1 APV=13

0

1000

2000

3000 4000
raw ADC

[ ADC for FoT RDO=1.ARM:
—

=1 APV=14

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM

=1 APV=15

0

3000 4000
raw ADC

[ ADC for FGT RDO=LARM:

=1,APV=16

0

2000

3000 4000
raw ADC

[[ADC for FGT RDO=LARM=LAPV=12_}

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
=
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000 p—
5] = . . 5 5 0
= = i
8 gD [i=—p =g o000 deocsc0000050050905psc00005500boasaqefec0095005095005504p095005055005500005500509500550990354(050950
< =
E L e T T e T B P E PR R RTY S T
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
L e A e P S T R LT P EPEE CEEE
=
500 f=—|- - - EERREE
=
L S I
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =

3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0 ==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000 p—
5] = . . . . . .
o =
9 3500 f=— - |
< =
3000 f=—— - |
2500 f=— - -
=
2000 f=—— - -
=
1500 = - -|
=
1000 p=— - -
=
500 f— - -
=
===
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

.4 m.,.4 .0 .4 .0

10

10

10

10

10°




run_13095012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Wed Apr 4 05:43:42 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Wed Apr 4 05:44:17 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

[||||||||||1]1I

1111111 TEEEEEF
[

S

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

120

100

80

60

40

20

]

N i AN

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

i i
20 40 60 80 100 120

[ ADC RMS for RDO=1,ARM=1,APV=16 }

RMS (ADC-ped)

140

120

100

80

60

40

20

0

°TH|11'I'|'HI|1£;_[IH TTTTTT

120
APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Wed Apr 4 05:41:38 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=LARM=LAPV=19
—

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=20

3000 4000
raw ADC

1000 2000

ADC for FGT RDO=1ARM=1APV=21 _§

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT

Py
lw)
O
|
p=
X
<

|

p=
T
<]

=)
|
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[[ADC for FGT,

RDO=1,ARM=1,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

=T
=
=
=
=
=
ey
=
=
=
=
=
=

[[ADC for FGT

Py
]

O=1,ARM=LAPV=20 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

N
I

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

60 80 120

APV channel

APV channel

. . s . A

10

10°

10°

10°

10°




run_13095012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Wed Apr 4 05:43:43 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Wed Apr 4 05:44:18 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

200 p—

180

160
140

120

100 [

80

60
40

20 (&

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

140

120 |

100

80

60

40

20

°TH|III]1'I'I'|'I‘HI

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

220
200
180
160
140
120
100
80
60
40
20
0

°%JJ__LEH|'I1I[III'I1I II|‘I1I[I1I[I1I

APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

RMS (ADC-ped)

160 f=

140

120

100

80

60

40

20

0

LK

T TR 1,_.__‘._‘._‘.+HIIIH|IH[

o

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

180 =
160 f=

=
140 [=

120 p——

100

80 |

60

20 E

20

0

APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Wed Apr 4 05:41:43 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

30
2

ADC-

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }
|

1000 2000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }
!

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

1000

2000 3000 40(

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

=1 I N S R R N S N

=

ey el P B (A Al o I el

= o

=1 R R R I e

= .

o= il I A - b i N i A A

=i I I S ) FAT I SO R N N

= H

= .

=1 11 [ " el [l el et Al Bl o e et e

— x .

===t S i S E e S & e s el S

= L L L L i i

0 20 40 60 80 100 120
APV channel

rm
m
rm:
rm:
L
b=
=
L
b=
=
=
b=
=
L
I
0

[ ADC for FGT RDO=1,ARM=2,APV=2

1
120
APV channel

= 4000
] = . . . .
2 = 8 8 8 2
Q 3500 |- {-{-t-F- 4 -4 -F - -t
< =
3000 B - - {-t-F- 424t -F - -t
=
2500 -4 {-{-f-r ooy or - e
=
2000 °
=
1500 B {-1-1-f-r- 1 o SEEELE ==
1000 B - 1-1-f-r-F -4k ==
=
V)= O B X Y S B AR | PR PR adha
=
o -t - - e
s i i i i i
20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=3 }
= 4000 p—
] =
& =
Q 3500 -
<

3000

2500

2000

1500

1000

500

0

© T TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

120
APV channel

° A A A A

APV channel

.. L L .

10

10

10

10

10




run_13095012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Wed Apr 4 05:43:45 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13095012 FGT_RMS_ 1,Timebin=2,Disc=3,asmb=3DA

Wed Apr 4 05:44:19 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

120

100

80

60

40

20

S -CEEINIIO0CEENNIIO0CEENNTa Y

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

i
120
APV channel

180
160 f—

140 p=

RMS (ADC-ped)

120
100 |
80
60 F
40

20

0

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

APV channel

RMS (ADC-ped)

i
120

APV channel

220 =

—
200 =
180

RMS (ADC-ped)

160
140
120 =
100
80
60
40 |

sl

0

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

i
120
APV channel

= 200
3

3 0
) 180 p=
o

<) 160 f—
12}

=

'3

140 =
120 f=
100 f—
80
60 [
40 [

20

0

APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Wed Apr 4 05:41:47 2012

[ADC for FGT RDO=1,ARM=2,APV=5 } [ ADC for FGT RDO=1,ARM=2,APV=5 |

= 4000 py
5] =
i =
Q 3500 fF— - {---tescf e as b
< H
3000 fF—--q-cctescfofe g iepeie
= 10
2500 fF—--q4---t---ff--a---ope-e-e-
=
2000 pF—--q-c-temcf ol oA iepeie
=
1500 fF— - - -t eeefofo e g p e
H 1
1000 pF— - - 4= e b eef e b
= 2
[y = SN P S A S P
= 2
= 2
0 fF— =t e e
; = g 10"
i 1= 1
2000 3000 4000 0 20
raw ADC APV channel
[ADC for FGT RDO=1,ARM=2,APV=6 } [ ADC for FGT RDO=1,ARM=2,APV=6 }
- 4000 p—
g = 2 2 2 2 2 2
9 3500 f=—
< =
3000 f=— 10
2500 fm—
2000 fm/——
=
1500 f=—— 1
=
1000 f=——
=
500 f—
=
0f— 10"
E_. . . i . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=2,APV=7 } [ ADC for FGT RDO=1,ARM=2,APV=7 }
|
- 4000 p—=
] =
o =
Q 3500 =+ - -
2 =
3000 = - - 10
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - - 1
1000 pP=—- - -
=
500 f=—r- -
=
of—- 10"
=
0 1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 } [ ADC for FGT RDO=1,ARM=2,APV=8 |
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=— 10
2500 =
2000 f=—
=
1500 f=—— 1
1000 f=——
=
500 f[=—
=
) == 10"
=
b=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=2,APV=9 } [ ADC for FGT RDO=1,ARM=2,APV=9 "}
.- 4000 p—
5] = . . . . . .
o =
9 3500 =
2 =
3000 (= 10
2500 [=—
=
2000 fm——
=
=
1500 F=— 1
=
1000 f=—
=
500 f—
=
= 10"
E_. . . i . . i . . . i . . . i . . . i . . . i .
2000 3000 40 0 20 40 60 80 100 120
raw ADC APV channel




run_13095012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Wed Apr 4 05:43:46 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13095012 FGT_RMS_ 1,Timebin=2,Disc=3,asmb=3DA
Wed Apr 4 05:44:20 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

3 =
g 180 [
8
< 160
g 0
2 140 =
120 f—=
=
100 p—
80 f—
=
60 =

40 |

20

. . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=7 }

g = —
2 200 P/
o =
2 180 f=—
g 160 f=—
&= =
140 =
120 f=
=
100 p=
80 f=
—
60
40
20
i
120

0

o

APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

160

140

RMS (ADC-ped)

120

100 p—

80

60

40

20

. . ;
® 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Wed Apr 4 05:41:52 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13095012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Wed Apr 4 05:43:47 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Wed Apr 4 05:44:22 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Wed Apr 4 05:41:53 2012

ADC for FGT RDO=1ARM=2,APV=17__§ [ ADC for FGT RDO=1,ARM=2,APV=17 |

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=2,APV=18 _§

i
0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

1000 2000 3000 40(
raw ADC

ADC for FGT RDO=1,ARM=2,APV=20

1000 200 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

1000 2000

raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=18 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

L0 LN LA A L LA K L il

[[ADC for FGT

RDO=1,ARM=2,APV=20 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

APV channel

il

© AT TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

80

120
APV channel

rm
m
rm:
m
rm:
o
L
b=
=
L
=
=
L
I
0

APV channel

.4 Ed ESd Ll A

10

10

10

10

10



run_13095012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Wed Apr 4 05:43:47 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

1500 |+

1000 [+

-500

-
Q

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Wed Apr 4 05:44:22 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

250

200

150

100

50

I‘I'I'I‘I‘I'I'l

B - IECO0XC0OXECOJXEDOO]

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

220

200

180 [

160

140 [=

120
100

80 =

60 p=

40 =

20
0

RMS (ADC-ped)

200

180 |

160

140 |5

120

100

80

60

40

20

0

i
120

S =CENIICEENII0CENIICEENIACE

APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

200 =

180 f—

160 =

140 B

120

100

80

60

40

20

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

180

160 [

140

120 |

100

80 |

60

40 E

20

0

APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Wed Apr 4 05:41:58 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=4DA

4 asmb

in=2,Disc=

B 1, Timeb
Wed Apr 4 05

run_13095012_FGT_MPV_1,T

48 2012

43

TARM=3,APV=0_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=3,APV=1 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=3,APV=2 "}

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=3,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=3,APV=4 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13095012 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Wed Apr 4 05:44:23 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Wed Apr 4 05:41:59 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

-ped

Al
=}

10°

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

2000 3000 4000
raw ADC

0 1000

[ADC for FGT RDO=1,ARM=3,APV=8 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=5_}

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
o
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=6 }

= 4000 p—

] = . . . . . .
5 =
8 3500 f—
< =
3000 =
2500 =
=
2000 =
=
1500 f=
=
1000 p=
=
500 =
=
0 =

=L, . . i . . . i . . . i . . . i . . . i . . . i

0 20 40 60 80 100 120

APV channel

[ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

3500

ADC-ped

3000

2500

2000

1500
1000

500

0

APV channel

[[ADC for FGT RDO=1,ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
0f—
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

R i IE RN ARG RN AR AIGR RN AT E TR AT RN ATRNAT]

APV channel

.. A .l S Ll

10

10

10

10°

10




run_13095012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Wed Apr 4 05:43:48 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Wed Apr 4 05:44:23 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

= 300 p=
3 n
9] 8
2 250 [F
%]
=
['4
200 |
150
100 [
50
0
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=6 }
= —
3 =
8’ —
2 100 —
0 —
= [
(5 80 f——
60 f—
40 _
M
20 |-
o il i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=3,APV=7 }
g —
-3 70 E
9)
[a}
< 60
@ =
=
z 5
50 |
40 Fmy
30 BH
20 B
L
10 FH
= i
0% 20
APV channel
[ADC RMS for RDO=1,ARM=3,APV=8 _}
g 80
i
] 5
2 70
9 =
H 60
50
40
30 E
20
10 E
0
| ADC RMS for RDO=1,ARM=3,APV=9 '
=
g -
9]
o
)
12}
=
'3

20 40 60 80 100 120
APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Wed Apr 4 05:42:04 2012

[ ADC for FGT RDO=1,ARM=3,APV=12 |

[ 1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=3.APV=13 |

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=3,APV=14 _§
—

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=15

0 1000 2000 3000 4000
raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

1000 2000 3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

[ =

il |r|1|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=13

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=3,APV=14

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— Sfee-
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhsas
=
= RS
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=15
- 4000 p—
5] = . . .
oo =
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 f=—- - -
=
=
500 fp=—- - -
=
o=
=
=
0

[ ADC for FGT RDO=1,ARM=3,APV=16

4000

40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. Eo.d Eed E.d Wl

10

107

107

10°

10°




run_13095012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Wed Apr 4 05:43:50 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Wed Apr 4 05:44:24 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

1 ‘V
120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

RMS (ADC-ped)

100 [+

80

60

40

20

°'I'I'I'|'I'I'I'|'I'I'|'|'I'I'I" F

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

RMS (ADC-ped)

100 [
80 |-
60
40 -

20 2

i
120

APV channel

[ADC RMS for RDO=1,ARM=3,APV=15__}

RMS (ADC-ped)

100

80

60

l TIT | T

DX

40

I III-Ij‘_II

20

[ '|'|'|'1'|'

| ADC RMS for RDO=1,ARM=3,APV=16 }

RMS (ADC-ped)

APV channel




run_13095012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Wed Apr 4 05:42:08 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13095012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Wed Apr 4 05:43:51 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Wed Apr 4 05:44:25 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Wed Apr 4 05:42:10 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }
!

1000 2000 3000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=4 }

1000 2000 3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

3
af- .

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1 }
= 4000 p—
5] = . . H 5 5 g
5 = :
8 3500 f=— |- mngn e IS R S S ELEL
< = .
3000 P=— == t----- Focgqesofpsosss S ELEL
= .
2500 f=— o= = st s e GEELCELE ELELE EEEE T
2000 fm— - - --t----- B PR R
= o
1500 = v|= s = np e s EEEE S Ty PR IR S
= 5
1000 f=— vf- - = e m s EEEEE EE P EEEE T :
= : H b
500 fm— P P R R
= s
o R aqte
= . i . . i . i i . i . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=4,APV=2 }
= 4000
] =
oy =
Q K = e B Rl R B R B o R B Rk B R e Rt R R R R EECEEEE i EECEE TR BF B B
< =
3000 R |- f == e b el b bt e R BF CE R R
=
P = e B R e e e B e e e e e B B PR PP LR R RS FE T O PP SRR BF B T
=
2000 sf|eslr= e =q=pes
=
=W |E=gplei = olpecde8eq e eoooeo=oocpdbdpocococddpeoag|pf/scecacasacsoscacsdhqpssacsonsanscpepossadbgecacs peegpilegiefee
WD |Z5=9Floi | olpo=degeq oo eoooeo=o 0o qpocacacddpaoaglpf/scecacasacsoassosdhqpossacsonsanscpebassagbgeeans peegpylegiefee
=
500 fF— - {- - b re e e g ek bR e Losdhilllalas
=
()= B B - e
s i i i i
20 40 6! 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 }
= 4000
&
Q 3500
<

3000

2500 f=

2000

1500

1000

500

0

40

[ ADC for FGT RDO=1,ARM=4,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80

120
APV channel

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... .0 el w8

10

10°

10°

10°

10°




run_13095012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Wed Apr 4 05:43:51 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
Wed Apr 4 05:44:25 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

300

250

RMS (ADC-ped)

200

150

100

50

i I111'|'I'I'H|II11]'I'I'I'I'[HI1]

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }

240 B=
220 b=
200 =
180
160
140
120
100
80
60
40
20 p=
0

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

250 e e e e e T eneaas

RMS (ADC-ped)

01
120
APV channel

220 =
200 p=—
180

=

RMS (ADC-ped)

160
140
120
100 [

80
60

40
20 f

s H ;
® 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

300

250 p——

RMS (ADC-ped)
11

200 p——
150

100

50

0

°'I'I'I'T[HHIHII

APV channel




run_13095012 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Wed Apr 4 05:42:15 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

in=2,Disc=

B 1, Timeb
Wed Apr 4 05

run_13095012_FGT_MPV_1,T

:52 2012

43

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13095012 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
Wed Apr 4 05:44:26 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13095012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB

Wed Apr 4 05:42:16 2012

ADC for FGT RDO=1,ARM=4,APV=12 _§

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=4,APV=13 _§

1000 2000 3000 40(
raw ADC

ADC for FGT RDO=1ARM=4,APV=14
—

1000 2000 3000 40(
raw ADC

ADC for FGT RDO=1,ARM=4,APV=15

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=16 _§

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10°

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
= =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=—
1000 pP=——
=
500 f=—
= 4
0 f=— 10
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=4,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 = 10
2000 f=—
=
1500 f=——
1000 pP=—— 1
=
=
500 f=—
=
==
=
= 10?
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }

ADC-ped

4000
3500
3000
2500
2000
1500
1000
500

0

10

APV channel




run_13095012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Wed Apr 4 05:43:52 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Wed Apr 4 05:44:26 2012

[ADC RMS for RDO=1,ARM=4,APV=12__}

=
g
4}
a
<
0
=
©
APV channel
[ ADC RMS for RDO=1,ARM=4,APV=13 "}
= —
2 200
8 180
<
g 160
@
140
120
100
80
60 p—
=
40
20
0
APV channel
[ ADC RMS for RDO=1,ARM=4,APV=14 "}
3 200
2
2 180
<
(%] 160
=
3

140
120
100
80
60

40 =

20

0

APV channel

[CADC RMS for RDO=1,ARM=4,APV=15__}

i
120
APV channel

= 220 /=
S =
4 200 P=
o) =
< 180 f——
2 =
& 10 =
140 f=—
120 f=—
100 =—
° g_
60
=1
=
40 =
20 (=
=
%
| ADC RMS for RDO=1,ARM=4,APV=16 I
3 220
o3
é 200
g 180
x 160

140
120
100

80 p—

60 F=

40 =

20
0

APV channel




run_13095012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB
Wed Apr 4 05:42:21 2012

[ ADC for FGT RDO=1,ARM=4,APV=17 |

1000 2000 3000

raw ADC

[[_ADC for FGT RDO=1.ARM=4.APV=18 |

1000 2000 3000 40(

raw ADC

[ ADC for FoT RDO=1.ARM=2.APV=19 ]
—

i
3000 4000
raw ADC

i i
1000 2000

[[ADC for FGT RDO=1,ARM=4,APV=20 |

1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1ARM=4,APV=21 _}

0 1000

2000 3000 4000

raw ADC

4000

[[ADC for FGT RDO=1,ARM=4,APV=17_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

e -

N
NEE

[ ADC for FGT

RDO=1,ARM=4,APV=18 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

=
=
=
=
=
=
=
=
=
=
=
=
=
=
IS
0

[[ADC for FGT,

RDO=1,ARM=4,APV=19 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1
120
APV channel

aildEINTERIAGNATGRAARNAGRARRIATENATRNATENAG]

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

40 60 80
APV channel

1 H|'I1II'|HI'I

° nrqlrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=4,APV=21 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

40 60 80 120

APV channel

]m |r|1|[|1|r|1|r|]rr|1|rm[|1|r|1rr|

APV channel

.. .1 o0 el . d LA

10

10°

10

10°

10




run_13095012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB

Wed Apr 4 05:43:54 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

i
80 100 120

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

20

40

APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

i i
80 100 120

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

20

0

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20

40

i
80 100 120
APV channel

. .
— . .
1 1 1 Il Il
Q 20. 40 A0 20 100, 120

APV channel




run_13095012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Wed Apr 4 05:44:27 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=18 "}

RMS (ADC-ped)

220
200
180
160
140
120
100
80
60
40
20
0

|r|

=

=
—--
=
h—

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=19 |

RMS (ADC-ped)

18 f=

16

14 [

0.8 [

0.6

04 =

0.2

0

12 =

=

i
120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=20 _}

RMS (ADC-ped)

250

200

150

100

50

°'f1'I'f]'|'f|]_;l|'__1_'i'-H"H'I'TI'I'H'I'

i
120
APV channel

1
20 40 60 80 100

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

RMS (ADC-ped)

18 E

16

14

12 [

10

i
120
APV channel




run_13095012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Wed Apr 4 05:42:25 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

3

ADC‘pgd

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=2 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=3 }

-ped

Al
=)

10?

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=4 }

2000

3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=0
= 4000 p—
5] =
i =
Q 3500 f=—
< =
3000 =
=
2500 =
=
2000 =
=
1500 =
1000 =
=
500 =t
=
=
=
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=1 "}
- 4000 p—
g = 2 2 2 2 2
9 3500 === {{--ff-F -1
< =
3000 f=—---{{--Ff-F|-1--
2500 - - - {{-- -} |- -1--
=
2000 = ---{{--}f-F|--1--
=
1500 === -4 -t} - 1= -
=
1000 p=—- - - {{- -} -] - 1- -
=
500 p=—--- 11 --ff-F-1--
=
Of—--A1-=t}t-r 1=
= . . . . i . . . i . . . i . . . i . . i
0 2 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=2 "}
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=
< =
3000 =
2500 =
2000 f=
=
1500 =
1000 p=
=
=
500 =
=
0=
=
=
0
APV channel
| ADC for FGT RDO=2,ARM=0,APV=4 l
.- 4000
5]
&
9 3500
<

3000

2500

2000

1500

1000

500

0

APV channel

.. A W .4 o0 A Sl

10°

10

10

10

10




run_13095012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Wed Apr 4 05:43:55 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13095012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Apr 4 05:44:28 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

160

140

RMS (ADC-ped)

120

100

80

60

40

20

0

HHHH '.II|IHIIH[H

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

200

180

160

RMS (ADC-ped)

140
120
100
80
60
40
20
0

40

APV channel

rF|-H-ITH-I1+I+|+1‘"'I

© AT AT T

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

RMS (ADC-ped)

120

100

80

160 [5

140 |

1
100

1
120
APV channel

50_—

40

20

0

i
100

RMS (ADC-ped)

20

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

180

i
120
APV channel

= =
g e
8‘ =
2 160 f—
<) =
H 140 f=—
x =
120 p—
w—g
100
=
O n o S B R Y X B B R 1 ) P Y Y P AR PP Yo O A T L B A Y R 4 P Y PR N e R N AR e o 3 e B A E N e
60 f—
=
w0 =
0=~
o = i i i i i i
0 20 40 60 80 100 120

APV channel




run_13095012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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